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© Assignment

1. Use the sum identity for cosine to prove the following double angle identities.

a) cos2x=2cos?x -1 b) cos2x=1-2sin%x.
CQSQ( FX) =(05X(0S X -Slaksin¥ LS =cos (X x) = (oskosy -SiaXsiax
Cady e 2 . ) X
= @'X - S10 K> Costy - (I-a'x) 2(ovh X -Sit X = |- sin? x-sify

=(os“x"lt-cos*x‘-o\ o> A -| ~£S ’_l—.as'\n*)(‘— KS
2. Write double angle identities for
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3. Express each of the following in terms of a single trigonometric function.
a) 2sin %xcos %x b) cos? 24 - sin? 24 ¢) 1-2sin?3x
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4. Use a double angle identity to simplify and evaluate
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5. Prove the identity lf"c‘o zsxzx = cot x and state the restrictions on x. .

LS ~asinxtost _ asiarlosx  olSinx(as¥ _ (o5 A o > &S
U= (l=asidx) [=[#asin™y - asinty sink T ———
cotx # Esf?ix so sinx+0  x #nl| nET

\n\ X

rominaly (- Cosdx # O ) o
CosAXT | X=nlln
AX+ anll

X% h/Tl n&cr

e



.q L4

644 Trigonometry - Equations and Identities Lesson #7: Double Angle Identities

ce 1-tan?x . . 3
O 6. Prove the identities a) = Co8 2x ) sin 4x = 4 sin x cos
1 +tan’x
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7. The expression 3 3 is equivalent to
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PR8. If a cos® - sin? X o 4+/2 , the value of a, to the nearest tenth, is .
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(Record your answer in the numerical response box from left to right.)
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9. If sin 660 cos 26 - cos 60 sin 20 = 2 sin af cos a6, then the value of ais .
(Record your answer in the numerical response box from left to right.)
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